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Inequalities in a Triangle

Definition: Let a and b be real numbers a > b if and only if there is a positive number p for which
a=b+p
Example 1: 7> 2 and 5 is a positive numberso 7=2+5.7>2and 7 > 5
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Lemma 3.5.1: If B is between A and C on , then AC > AB and AC > BC. (The measure of a
line segment is greater than the measure of any its parts.)

Example 1: According to the segment addition property AC = AB + BC

. ®
A B C

Lemma3.5.2: If BD separates < ABC into two parts ( ¢l and <2 ),then the measure

of MsABC > 21 gpg m<ABC > 22 (The measure of an angle is greater than the
measure of any its parts.)

Example 2: According to the angle addition postulate < ABC=,1+22

Lemma 3.5.3: If 43 is an exterior angle of a triangle and £l and <2 arenon adjacent

interior angles, then, ™M< 3 > mzl gnd M£3 > Mz2 | The measure of an exterior angle
is greater than the measure 0£ either of the nonadjacent angles.)
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Lemma 3.5.4: In 4ABC Jif 4 C is aright angle or an obtuse angle , then the measure of
m«sC > mcs B and m«sC > mzA

Proof:
m AABC L, mz A+m 2 B+m 2 C=180° withthe M« C=90° , it follows the

m« A+m - B<90° , and each angle ( msA andq m<B ) must be acute. Thus M« C >
mszB and m2C > mzA

Lemma 3.5.5: (Addition Property of Inequality) If a>b and c > d, thena + ¢ > b + d.

Theorem 3.5.6: If one side of a triangle is longer than a second side then the measure of the angle
opposite the longer side is greater than the measure of the angle opposite the shorter side.

Example 3: Given the AABC  yith sides of the following lengths AB =4, AC =7 and BC =5.5.

Arrange the angles by size.
A — . —
AC S>nC > A3
) MLy D> mMLAS wmle

Theorem 3.5.7: If the measure of one angle of a triangle is greater than the measure of a second
angle, then the side opposite the larger angle is longer than the side opposite the smaller angle.

Example 4: Given ARST  ith angles that have the following measures. Arrange the sides in
order of size.

R MLR > wmZTYmLS

75°

T S §j£>\{’T_

45°
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Theorem 3.5.10: (Triangle Inequality) The sum of the lengths of any two sides of a triangle is
greater than the length of the third side.

Given: AABC

A

BA + CA>BC

C
Theorem 3.5.10: (Triangle Inequality) The length of any side of a triangle must be between the sum

and difference of the other two sides.

Example 5: Which of the following sets of numbers cannot represent the sides of a triangle?
Fe =l y3 —

TR = Ip > L — Y@
3 L'O;>?#L//

a. 7,7,3

b. 4,5,1

N, a4 C a6t

amples. Tt =& B¢
Eampleﬁ“;_jr_’D 7 X

Given: @ bisects, =852 B 7~
Prove: AB > ADR- =N

Statements Reasons

AD
1 BB pisects 4@‘%}2’((‘ 1. Cive
o mzl=m .2 2 Deg 7 L ket
3.m . 3>m 22 3 L5 152 axt £ v D ADC
4 m2s3>m sl 4 Sulp &N huen
5. AB> D PO 5. 0pp 44 & logrer L
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Example 7:
A. Arrange sides from smallest to largest

l<7s 93/ € MLL&M(P dYV\AC

” cPb < ) & WP
B. Arrange angles from smallest to largest.
: ZY R L R2
? mIX < mCE Z VV\L\{

X Y
24

35

Example8:

k,_
List the sides of AABC in order from longest to shortest.
MIAc WAL «wnl = ! >

mZA = 4x + 20 o) —20 =D
m/B = 2x + 10 &x 20 T 2% N 0% b ™

m«ZC = 4x - 20 | D x 1 0 —__-_lggp VV\Z,A-'*QCH')'\"M 5&8-0
10X =\YD e = 20 X0 = Ly

x = Ur WMl = a«dx\—ro = “4&'

Determined, Underdetermine and Overdetermined: MBS MZOS mlD

. mzS AD Y Ac
Determined: Draw a line segment from A perpendicular to BC so that the terminal point is on BC.
(Determined because the line from A perpendicular to BC is unique.
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Underdetermine: Draw a line segment from A to BC so that the terminal point is on BC.
(Undetermined because many line segments are possible.

7\
b b F c g -

Overdetermined: Draw a line segment from A toE so that it bisects BC. (Overdetermined because
the line segment from A drawn perpendicular to BC will not contain the midpoint M of BC.

A

Example 9:

A

.
»

a. Draw a line segment from A perpendicular to m. Describe the segment as
_determined~underdetermined, or overdetermined.
_______—__D

b. Draw a segment AB parallel to line m. Describe the segment as determined,
underdetermined, or overdetermined.
R —



